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Which group do the following collective nouns represent?

1. Herd
a. agroup of tigers
b. a group of elephants
c. agroup of wolves
d. agroup of lions

a. agroup of people
b. a group of players
c. agroup of birds
d. a group of singers
3. Caravan

a. agroup of cattle
b. a group of camels
c. agroup of deer

d. a group of bears

a. agroup of lawyers
b. a group of teachers
c. agroup of doctors
d. a group of directors

a. the people working on ships, aircrafts etc.
b. people traveling by plane

c. people working in an office

d. people gathered in a stadium

SUBJECT----_Maths

1. By how much does — 3 exceed - 5 ?

i) -2 ii) 2ii) 8 iv)-8

2. The sum of two integers is 6. If one of them is — 3, then the other is
i) -9 i) 9ii) 3 iv) -3

3. The additive inverse of - 6 is

i) 1/6 ii) - 1/6i)) 6 iv) 5

4. (-15)X 8+ (-15)X2="2
i) 150 ii)— 150 iii) 90 iv)-90



5. (?)+(18) = -5
i)y -90 ii) 90 iii) -18 iv) 18

SUB-PHYSICS
Multiple choice question(select the correct one):
1. Change in position of a car with respect to building is called:

(a) rest (b) motion (c) rest and motion both (d) cannot be
said
2. KM/h is the unit of:

(a) distance (b) time (c) speed (d) all
three

3. Speed depends on:

(a) only distance (b) only time (c) both,distance and time (d) no one of both
4. Speed of a bus is 36km/h,its speed in m/s is:

(@5 (b) 10 (c) 15 (d)
20
5. If the distance covered and time taken by a car is doubled then the speed of the car
will:

(a) remain same ( b) be doubled (c) be halved (d) four times

SUBJECT—CHEMISTRY
MULTIPLE CHOICE QUESTION (SELECT THE RIGHT OPTION) ;
1.Litmus a natural dye is an extract of
a) china rose b) beetroot c) lichen d) blueberries

2.Turmeric is an natural indicator. On adding its paste to acid and base separately, which
colours would be observed

a) yellow in both acid and base b) yellow in acid and red in base
c¢)pink in acid and yellow in base d) red in acid and blue in base

3.Phenolpthalein is a synthetic indicator and its colours in acidic and basic solutions
respectively are

a) red and blue b) blue and red c¢) pink and colourless d) colourless and pink

4.A solution changes the colour of turmeric indicator from yellow to red . The solution is
a) basic b) acidic c) neutral d) either neutral or acidic

5.Which is not a property of acids

a) acids turns red litmus into blue b) acids turn blue litmus into red

c) these are sour to taste d) with china rose indicator , this gives dark pink colour



Subject-Biology

Multiple choice questions :

1. The plant which traps and feed on insects is

a) Cuscuta plant b) China rose plant ¢) Pitcher plant d) Rose plant
2. Cuscuta is an example of :

a) Parasite b) autotroph plant ¢) saprotroph d) host

3. Which of the following plants is an example of autotroph?

a) Mushroom b) yeast ¢) bread mould d) mimosa
4. Two organisms that live together to benefit from each other are called
a) Symbiotic b) parasitic ¢) saprophytic d) insectivorous

5. One of the following is not a parasite. This one is

a) Lice b) Leech c) Algae d) Cuscuta

SUB-HISTORY
Multiple choice questions :

1. Vasco Da Gama and Christopher Columbus were

a. Explorers b. Traders c. Scientists
2. Vedanta period is the

a. end of Vedas b. Beginning of Vedic traditions c. Dominance of Vedic culture
3. Paper making spread by Arab traders in
a. 751 AD b. 851 AD c. 651 AD
4. Mohammed Ghori invaded India in
a. 12th century AD

b. 13th century AD

c. 15th century AD
5. The capital of Pratihara dynasty was

a. Latur b. Kannauj c. Malkhed
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SUBJECT - COMPUTER

Q. Multiple choice questions (select the correct one):-

11. A graphics tablet or digitizer is a computer ..................... device

a)Input device b)Output device c)Processing device d) None of these

12. Drawing tablet be used to capture .....................

a)data b)handwritten signature c)both a and b d) None of these

13. A touch screen is a computer display screen thatis alsoan .....................

a) Input device b) Output device c) Tablet Pcs d) None of these

14. MICR is an input device which is primarily used by the ..................... industry.
a) Garment industry b) Banking Industry ¢)In school d) None of these

15. An output device isused to ..................... the result of data. Processing carried out by
CPU of your

computer system

a) Communicate b) Print c)Processing d) None of these
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